296 _ 300 __,_+_6_-_ - 5_8_.: _04._8_
- 4T6‘ 700 A00 400396 A0 go %40”)
- 9 E—.‘—' st y=—=0,
- 3-}%4—400 ) 20
145 _400 10,5~ _ 2%50 3000 3R
— 0 10 4o ;\04 A000 41000 S _935
_ _ 3 —
- /IO J—L‘-\'_%-- ll-’s - 2"'?6"“"4’0-0 i
_ 41958 _ 1000 , 00 .50 8 S - D0>
S=>7 = 2000 Aopp -Ao® 1000 - ——
1000 _'\00021 2 8 4958 A00
—-/\ ¢ ——Ft — ¥
A0 A0 4000 !
% 395 _ 3000, 800 + 30 , S
356 _ 300 .50 .6 —  T200 400 00 A00 00
- 100 ~ 4100 700 4oo = 7'~>O+8 +_§_+_5’: %&lgs
—%+5 16 =256 A0 A0
AD 400
Ex4p53:
258 - 958 D .23 2858 3858 A0%.205  S5.05
100 A0 1000 100 0
38 2028 M5 _oms 299 3999
100 A000 4000
Ex5p53:
g L8 L0808 209,309 3950 .395
%“L‘ 200 A00 A000
Ex 1p 126 : Figure 2
EX;::,QSO‘; '-7-586 5 @}L, 2 ﬁq’g 9
i 251 S 1517 -A6%i [29¢ AR ey
1% 15 ° 73" =45 i |51
-49 -15: YA 3}
03 R 5, .
-3 x; 36!
_2% ¢ L
) -_—
2012 3%@_ B 3
-4 0 [asd - 2Lk, [RRF
n - 14
-8, A2
EX% L
9.0: 21
13, 1



